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T - I/PART - I
919 faerd wd f{ETE/ CHILD DEVELOPMENT AND PEDAGOGY

3T : e godt & v 47 % f qed 3T Reey g

Direction : Answer the following questions by selecting the most appropriate option.

1. Freimaeen & s & gedm 3 & fou
AAEF 2
(1) SR
(2) et e
(3) ST FT
(4) THEAHD FGER FT

2. UF I0F & GEARIET Y FATE B
FE T Pt § @ @9 ofafy

3. UF [N & " & fwy § Frafafad
% ¥ 777 FYF B9 B 7

(1) "9 afvefya afrm am aiafda
2l 21

(2) | =t A B

(3) UAF WHT § TH AET G A B

(4) T 9@ SEE A AT e

4. g fnem @ o R

(1) AR Tersti & qra e
ERcacil '

(2) @i erarstt # e Her-aeEt
q QU

(3) AfFTE Frrarett i fafire faemeaf
H O T |

(4) AHRPE F=arel # X W eTeeH
BT QA FHEA|
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1.

To cooperate the adolescent it is
essential to

(1) Inspire

(2) Indicate his mistakes

(3) Criticise him

(4) Do negative behaviour

Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

Which of the following is a wrong

statement about emotions of an
adolescent ?
(1) Emotional expressions are

modified by learning.
(2)
(3)

Emotions are permanent.

Every emotion is accompanied by
a feeling.

(4) Emotions are aroused by external
stimuli.

Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in

different classroom.

(3) Meeting individual differences in

special schools.

(4)

Meeting individual differences in
home based instruction.

P.T.0.


Ashu
Typewriter
Newjobsinfo.in


Level-3/179

fpeiraenr § sgqeR 9 wRIgRT W #9d
T Y99 9gdl §

(1) fires &1

(2) wr-Rar &

(3) wM-aeEr @

(4) == F

Bl A Afw gl @ e w9 9
fFam o | 8, 3T T

(1) IXEAR g &l a1 &1 |

(2) @ I W R |

(3) W AfRTAl %l el g |

(4) 31T # A )
femers o i § 3 gran ok
P FT & § gea 7, o ©
(1) W 9 H&H B |

(2) 3fa @, fwwe, @ @R
frrepe feyepTer |

(3) B Iq F AR AT B

(4) wiatwear @ fafE & o s
FfEs o remE g fhRai A

R & ghray [ g
(1) THT= (2) SIS
(3) uiai=d  (4) FMIARTE

frefefgg & @ @@ faEenr §
WIS &g F1 UF T q87 & 7

() o a4 T F TF qARd
BT

2) Rl /v $ gy amdor &
(3) N gt F arft = A

(4) faftre il & frar &

(4)

In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral can be

inculcated among the students when

values effectively

teacher

(1) Frequently talks about values.
(2) Himself practices them.

(8) Tells stories of good persons.
(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.

(4) thinking about ways of reacting.

Best method of dealing with adolescent
by parents and teachers is

(1) Autocratic (2) Permissive

(3) Democratic (4) Restrictive

Which of the following is not a

characteristic of social development in

adolescence ?

(1) Active member of their peer
group

(2) Being an attraction towards
opposite sex

(3) High decrease in friendly
relationship

(4) Extension of special interests
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10.

11.

12,

13.

14.

@ﬁ&ﬁ?ﬂqﬁaﬁmﬁiﬁr&w%
T gEr oo @ e, 3w e @
FOT B

(1) 9T Hder
(2) FaEmas FaEr
(3) 7T HaEX

(4) T e wet &

TUFT ST9Ead] 96T geied &

(1) g= 9w 4
(2) TR & o R &

(3) |E FE (Hda) g A
(@) TR oA FE

‘gad AR AE qEEET (CCE) &

I B

(1) #aq aF B THART F JAEA
A |

(2) T & qll Wl & g |

(3) A BE & M H eAiHA B |

(4) Fac B H GUA F TAFT B |

frefafgd § & 9@ ToMes aaE

%l Qe (drar) 787 & ?

(1) freara

(2) wifereaT

(3) fagean

(4) e

S gfawe # aad B

(1) 9% 3 e A B 4 9iad |

(2) e @ Rreor fafygt # oftgd=
(3) WIEHGR F GRHH |

(4) TEFEERY B YO B
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10.

11L.

12.

13.

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

(1) Speaking accurately
(2) Writing
mistakes

without  committing
(3) Listening message properly

(4) Doing mathematical calculations

Continuous and Comprehensive

- Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.

(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration

(2) Originality

(3) Accuracy

(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the

teacher.
(3) Recognization of the subject-
matter.
(4) Completion of content.
P.T.0O.

Newjobsinfo.in


Ashu
Typewriter
Newjobsinfo.in


15.

16.

e

18.

gt 1 fqudier g 99 2 § 7

(1) = & 59 & 994
(2) AEEET F A

(3) Frsi@Een & AR
(4) TGEHEE & GA

qEH & AR e @ O & A
Frefafad & @ #9-81 gEgs 3ugH
TR 7

(1) IFH GrIareT & SThad e @ |

(2) IUgH GEE AR AEE Iuer HE
ST e |

(3) I ffga (ciaw) #T 31 =nfeq |
(4) SARFFICEHT IFE™ FET @M

frard & @iy, 9w =7 F raHEfa
fral & @ ®d #9999 F Sa
TETR ?

(1) STRrEAHE JUEH
(2) SIS SUFH
(3) Hafed IUFM

(4) oTest IUrH

SRR ISR I G L
Rrde Tt 3

(1) aa% & TS GHE |

(2) a9 & qmMiorE fase |
(3) I F ARG fFF |
(4) qEH b qEGiaE e |
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15.

16.

17.

18.

Differentiation of emotions takes

place at the time of

(1) Birth of child

(2) During infancy

(3) During the period of adolescence

(4) During adulthood

Which of the following provision is

not suitable to meet individual

differences among learners ?
_<1>

(2) Adequate facilities and material

Their abilities should be assessed.

should be provided.
(3) Labelling them.
(4) Making Individualisation necessary.

with
particularly maladjusted one, which is

Working adolescents,

not appropriate ?

(1) Critical approach

(2) Democratic approach
(3) Collective approach
(4) ldeal approach

Heredity plays most important role in
the

(1) Emotional development of the
child

(2) Social development of the child
(3) Physical development of the child

(4) Cultural development of the child
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19.

20.

21.

22.

UF B FANF B o0 di@s 3 st

P AFHER AETF 2, e

(1) 308 STgE ST @ F e
et 21

(2) T B AH T A e
et & |

(3) UEHAE H WG b o qHAM H
Tergar et |

(4) 3T G99 & 9= el 2

e T & T @ P
& A v g R 7

(1) ReEedEa  (2) g
(3) e (4) AT

Ffifoardt wen-ee @1 Fr=fafea § @
#1401 RBdnd & ?

(1) 8@ 2 T & AW §9E,
frepd freper ofiw oroe el i

e T |
(2) 9 TES, Hﬁﬁ‘fﬁ‘-ﬁﬁ@ﬁﬂ%

(3) AAYE SNAFNH I BE Eﬁr
TG Sl & |

(4) BE ‘e’ I P T 2 |

Frefofad 4 @ @991 afem @1 s
qreE® & Hfawed e @ gt
frag 2 7

(1) A= # W
(2) ¥ H 199
(3) HAHET H1 Frgw
(4) wght &1 |
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19.

20.

21.

22,

A
The

learning is must for a good teacher,

knowledge of principles of

because
(1) It helps in maintaining discipline.

make content

(2) It  helps to
interesting.

(3) It helps to understand the content
by simple methods.

(4) It saves time.

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity

Which of the
characteristics of

the
constructivist

following is

classroom ?

(1) Students
draws conclusions and compare
their findings.

design experiments,

(2) Knowledge is objective, universal
and complete.

(3) Teacher
knowledge to students.

(4) Students look for the
answer.

transmits authoritative

'right

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

B.F.0.
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el % oa] @ |dl AbEl &
IS W AeE AR ar &
a8 S 8, F8 fadm Frefied J
d P-4 oy F e ?

(1) vaie Frams sy

(2) % FRaeTE Sary

(3) yd-Frares st

(4) =3 af sty

UF T F GorTedal & WY A €

STFEE IUdley 999 & qdT AN
frepra 1 T FEIY &, T8 IEE ©

(1) SRR AR T

(2) U JAFaE TR

(3) FafFEE ST

(4) 9T g JFTE ST

a8 SfI® HEES & o [FHl Faer

F ey FH, FRAE #9999
@H P 9gq F 8, Feald &

(1) AR (2) SfETREn

(3) g (4) SIREem

FE AN T A H S A g
g W & i ST I

(1) ghe afd (1.Q.) & &)

(2) M @l (A.Q.) B B

(3) TiafE afr (B.Q.) Bt 21

(4) eI @l (S.Q.) Bt )

fereprg g [T | g @ % SR
2iar 2, fawra @1 g8 e Feamr §

(1) famsd | wEedE

(2) MiFieEd (37T q 9B #1 9R)
(3) 9 ¥ fafire

(4) BROEE
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23.

24.

25.

26.

27,

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that
directs
behaviour is called as
(2) Opinion
(4) Motivation

arouses, and maintains

(1) Interest
(3) Attitude
Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (I.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this
development is called

(1) Bilateral to unilateral
(2) Proximodistal

principle of

(3) General to specific
(4) Cephalo Caudal



28.

29.

30.

TH BE G qier 3 R wfRed oRem
F W B IH MO T I B oiF
HM G AeTAERET 39 #1 amr B B
zaa o B

(1) ST OO

(2) amr vem

(3) T dRom

(4) I T4 TRy URem

Al dfem SUTH & g §
frrfeiad & @ &t #99 797 ¢ 98 &

(1) & STirmapar @1 drgarel, eearsl
3 et et & e @ B

(2) F& YV, IFWlET X @S B
e 9T 9 T 2|

(3) TE AANS W ATHEAl F T
MR 9T 9 3l 2

(4) & STTHATH-S™, FHE-FHHM,
TUII-AFreE a9 gemefia-aee
s faftret @ s e B

‘G Bl A wEr T oawr

A g = 3 g # @

Fed & 7

(1) SRS

(2) YLEoTER

(3) FEHIT

(4) TETEA

(9)

28.

29.

30.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsi¢'motivation

(2) Extrinsic motivation

(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's

capabilities, capacities and

learning styles.

(2) It stresses the
enquiry,

importance of

observation and
investigation.

3) It
knowledge to the learner by the
teacher.

emphasises  transmitting

(4) It uses methods like experiential
learning, problem solving, concept
mapping and creative writing.

A child's attitude 'I do not care' is a

type of behaviour which can be

called

(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression

Level-3/179
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797 - 1 (f8d) / LANGUAGE - I (HINDI)

T : frmfrea geat # @Y @7 @ [y @98 T A g

31. o7y fawed ® Te=Ig 36. “aft g7 oM a1 § off grER @y =

(1) fagafE = R + fm 36 a9 & @81 F &

(2) JEAER = g8 + 4R (1) ST CFPIA

(3) @ = @9 + & (2) BPeIHE YIHA

(4) EEFTT = A1 + 19 (3) Wiy ar
32. ‘a9 § AN-|1 G9F @ g 7 () gl

(1) = 2 @ 37. ‘T 5= sifaaed &1 & T4 g gen
33. ‘ge Rg W ewen fFm @ & - 3 R W 3

UF e T (2) FHH

(1) FTHETT (3) Gﬁﬂgﬂ

(2) )

(3) I (4) g

p— 38. fhd o= ® @ww & gfc | faufe @
34. S AfHE o W F frem wE W - ™' 7

3 foe o 9= B (1) afas

(1) gfe (2) FT=

(2) AR (3) @&y

(3) Siearcr (4) @O

@ 39. fFE o= A A Ug @ WA S w9
35. fr ol & @ PF-w 9= ‘@@ R ? q 7efgan & 7

(1) ™ ' (1) Fote

(2) feemm (2) e

(3) wEIEY (3) T

(4) G (4) 9
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40.

41.

42.

43.

44.

F @e @ gw gl 3 A A

[T WE 3 HIT

(1) gt

(2) T 9

(3) STE~ ¥

(4) ®fer ogd

R 1 gt § T aE e 7
(1) =g

(2) AEEEF Gl

(3) g

(4) g

-1 = U F GEETE 787 8 ¢
(1) Fe

(2) e

(3) M

(4) Taferg

Ra’ 9= B FE G o

(1) 6+ 7

@) T& + A

3) T + 9@

(4 T +7

grfigay’ I F TEE Y s &
(1) a + g9

(2) A + g9

(3) A + @

(4) A + Fo
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45.

46.

47.

48.

49,

Rt 1 ‘@ aft @@ & gfe § B
(1) STEST-HY

(2) HEo-8E

(3) STEHTIT-3THIT

(4) HRTHTOT-37H1Y

‘qEE’ 9 H IUgH GHE H T
F

(1) fadar agse

(2) T wged

(3) W TYHY

(4) =gt g

‘ST T T T qT T &G, AT AT
a7 W@ g dm, owe - AR F
fora et a1 @ T Fig

(1) "EmE F o @ faw |
@) T, 4, TH F O qER AW @
(3) STUELEF awgA § & I

(4) Teelt 3 FHRT A ®F S

Sua fed o= §

(1) g

(2) g
(3) T™iYR

4) fa=a
o7gre faea B gH
(1) Sd-arTe

(2) IFHA-{IHA
(3) -
(4) STIUT-TEo

200



50.

51.

52.

53.

54.

feparar’ | T @ 9 B 7

(1) ordl

(2)

(3) &fish

(4) =i

‘qah TEH ITE eI R
WH & fou ofyg 9= @1 999 Bt

(1) &=

@ @&

(3) F

(4) 9INR

P o= H FHaRT U @ wan T8
B E 7

(1) FEER

(2) v

(3) wIEIfe

(4) FaAETA

T g A gfee F A 2
(1)

@) 79

@)

(4) AT

fha o= H faget @y @ s 78 gen
g7

(1) A

(2) TR

(3) gHrS

.............

(4) qadgEr
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55. OfgE T AT U= Bifew

(1) FaiaF
(2) T

(3) g
(4) SO

[éser : Frifafer Temer @ w87 37 97 o
98 7 797 (797 7 56 | 60) F FTT A

WA § WoU & $Eee o sifad @
T & SAfREAE X e g1 R @)
IHERX S Ted €| UF WX W A W i
€ ol orfid & ude fogd @ wWuw g @
e o8 ¥ o g "R W @ ‘omyf’ ¥
e % 0% UM @ @3 F gfte § I@q ¥
AR wF Hoa onygfe we B Pl § o amn
F e Ud § |

ARG FHE A WO B Ae @ @ad
o & weg 29 Sfed & weAifed ol deger
wRfi A B oARdm we @
WEE a9 % &9 § ofufed e omr @
Fred %8 @ 78 4 @ o B i
T/ FE g T aE 2 WIU F @Y
IREE & HRAE TA @ OgE 2

dfes dfeael #1 Fowy AT @
foy Sufwet & & & T o 5 AR A
% & A 4| HeER @ g Ned gE 3 39
qot e &1 oy fEar Rad @ @l = 3
g% g & A AR d9EE W @ Ry
TN HYEE % ®9 § gEe o ol meE

e Y ghefawas oR@er & a8 @it

fem = free qod gE we9 Y W ®
9| o URREH T e @ O g I
&EY-HElR=d & el AR Pl s Joml
P R aF T | MAR FHew H P9 a8



RAE! B AR @ o A e dhE T gen
gl g Wity & 79 fyera # el & A
o e oEe ok gT e wREr § 23
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¥ 3 g9 yHR TIfed @ ¢ 6 3% gUE W
d W9 H @A G9G T |

I 95 & WIEE WO B 3E 2| e
M Feag B BleHK q6 Sedl B AR TG
g ¥ I eyt @ JEEE wgEE 2
qEieTF hEmE & SPEN e B T
TE g A E WOwe & fsetwer 1 e
o7 | gRgds ol uftasE @ B SRem T2 4
I T WO F AW W B U aEd
g frefad g P guRom eq o ol
T @ 2 |

Ty 78 @é 2 % onia W FP A=
Woel & @ERT B Je TSl WY T
o 8 & B gt ol o aget o
HAAT @ 8 ST | Wiy qRd § S
ud dfddr & AW W gYE o H dea A
gl HE UE e O & T 2| B a8
free olit gt ot UM @ WO @ 991 8 ©
dAfes g9 & T 9 ol 3 & W B
T F GeAifed oM FRgER GRHT e
ql oTEsEE & g 9EH T e Fe @ fF waw
F 3NF 9 AEA fF A

56. WA T H S &
(1) 9R WER
(2) U &y
(3) WU & @Y uRadH
(@) 0 g o 8
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57.

58.

59.

60.

Mg g fedr 2

() A dEE &

(i) HEHE T &

(iii) o7 @ &

(iv) gfte fawas e &
St Su foee ® g
(1) @) @ @v)

(2) (i) T (iv)

(3) Had (iii)

(4) a9 (id)

(1) o= | @) FatE A
@) FIH A (4) dE A
foeetn 3 e

(1) AeE

2) frarg

(3) =T
(4) HfeHT Hed

WA= WRd § A faad ©
(1) g

(2) GG F A

(3) T H Head H @I FHA
(4) ﬂ'ﬂ'ﬁ?aﬂ'(ﬁ‘!?l

Level-3/179
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AT - II1I/PART - III

TN - 11 (${T571)/LANGUAGE - IT (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence : _

[ suddenly realized 1 (wétch).
(1)
(2)
3
(4)

am being watched
have been watched
am watched

was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

Copi.......... = Plentiful

Level-3/179

64.

65.

66.

‘I don't enjoy going to the dentist.

The word 'going' in the above

sentence is a/an

(1) Present participle
(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the

park.
(2) Mother told us not to go to the
park.

(3) Mother said us not to go to the

park.

(4) Mother said to us to not to go to

the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67.

68.

69.

Choose

construction of the sentence :

the correct passive

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction,

(4) The painting will be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-

spelt ?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic

Level-3/179

(15)

A

Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

- 70.

71.

72.

(1)

(2

3)

(4)

(1

2

(3

4

(1)
(2
(3)

4)

My brother is the student in

Mayo College.

My brother is student of Mayo
College.

My brother is a student in the
Mayo College.

My brother i1s a student in Mayo
College.
Neither of them were present

there.

Neither of them was present

there.

Neither of them present there.
Neither of them are present
there.

The roses smell sweet.

The roses smell sweetly.

The roses are smelling sweetly.

The roses are sweetly smelling.

P.T. 0.



73.

74.

75.

(1) You certainly did not ought to do
it.

(2) You certainly ought not to have

done it.

(3) You certainly did not ought to

have done it.

(4) You certainly ought not to have

been done it.

(1) Who was the book given to ?

Who the book was given to ?

(3) The book was given to who ?

(4) Whom was the book given to ?

Choose

transcription of the word 'Locate'

the  correct  phonetic

(1) Nuket/

(2) /lokeit/

(3) /lou'keit/

(4) /ouket/

Level-3/179

(16)

76. Choose the correct direct speech of

717.

78.

the given reported speech :

He said I'd better go because it was late.

(1) He said, "You'd better go because
it's late.”
(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

He said, "You'd better go because

4

it was late."

Which of the following is spelt

correctly ?

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert the definite article

‘the’ ?
(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.



79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said [
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said [

am too young.
(3) My father put his foot down when
I said I wanted a car for my
seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time
(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions
by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/179

(17)

A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
the utter absence of all

requisites 1is

pretension.

The wvulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
is

unbiased freedom of mind which

necessary to its receiving and giving their

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P.T.O.



82.

83.

84.

85.

What is net a requisite of common
sense ?

(1) the utter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

(4) an unbiased freedom of mind

Which of the following is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense.

(2) Common sense requires the
utmost simplicity and sincerity.

(3) Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

(4) Common sense destroys the
native simplicity and warps and
trammels the freedom of mind.

Fill in the blank with the most
appropriate word :

Common sense has been well
pronounced to be ‘fairly worth the

(1) Notions (2) Sciences
(3) Talents (4) Wits

Which is not a synonym of the word
'‘pedant' ?

(1) dogmatist

(2) formalist

(3) perfectionist

(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable oplion :

88 o child should learn to read and

(1) All (2) Every
(3) Whole (4) Both
87. Can I ask your ..........., do you think
TV violence is harmful ?
(1) opinion (2) favour
(3) question (4) advice
88. Where is my wallet ? I left it .............
the kitchen table.
(1) at (2) in

(3) on (4) by

89. Take some medicine and the pain will

1 {0 E :
(1) back (2) off
(3) out (4) away

90. The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/179
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HAM-IV/PART -1V

gifid/MUSIC

fader : fFrfired go7 % gae @7 % g q9q afad ey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

U FA § ge-aed & 1 AW o1 ?

(1) AEHET
Q) B

(2) g=m=
(4) SfmEA

PF-81 A6 q@ T ¥ 7T aeA S
R 7

(1) FHEE (2) TET &Rl
(3) T (4) THA

i & 999 999 $ a9 9 e &
(1) i (2) @9

(3) a1 (4) HET

(1) HfeferEy &

(2) FEgE &

(3) SGHTETY H

(4) HIHA B

Level-3/179

91.

92.

93.

94.

What was the name of Vrinda—Vadan

in ancient period ?
(1) Orchestra (2) Vrinda Gana

(3) Kutup (4) Jati Gayan

Which folk instrument is not played

by Bow' ?
(1) Kamaycha (2) Ravan Hattha

(3) Pena (4) Ektara

Mean is called to measure the time in

music
(1) Gati (2) Laya
(4) Matra

(3) Taal

'Aalaripu' is starting part of
(1) Mohiniattam

(2) Kuchipudi

(3) Bharat Natyam

(4) Kathakali

P.T. 0.
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95. ElEw 1 22 gl W A @ AW 95. According to Ahobal, how many
g7 swaras are on the 22 Shruties ?
(1) 22 (2) 14 (1) 22 (zj 14
(3) 12 4) 29 (3) 12 (4) 29
96. AT UF fFAT B 96. Aavap is a Kriya
(1) 9= (2) wfafsar (1) Sashabd (2) Pratikriya
3) M= (4) o (3) Nishabd (4) Mail
97. MIF #H fE faw § TEE F; HGM 97. In which style of singing the varieties
a1ferep Brar & 7 \ of layakari are much used ?
(1) g (2) I (1) Dhrupad  (2) Khayal.
3) & 4) 799 o (3) Tarana (4) Thumri
98. H-d qr ¥ @rel 7&T & ? 98. Which Taal is without Khali ?
(1) (2) @9er (1) Teevra (2) Khemta
(3) et (4) & o - (3) Sooltal ~ (4) Brahma
99. TSI A% qq A -1 & 7 99. Which is Rajasthani Folk String
Instrument ?
(1) 98 (2) FEATA (1) Nad (2) Kamaycha
(3) g (4) @ (3) Surnai (4) Dhak
100. 3% ¥ TAVYH “‘90d m’; feraeRt 100. Who got first "Bharat Ratna" from
forem & ? o _ the following ?
(1) Yo ¥fmaT et o (1) Pt. Bhimsen Joshi
(2) To THo gamﬂ . (2) M. S. Subbalaxmi
(3) Yo it - (3) Pt. Ravi Shankar
(4) odr HAHT | (4) Lata Mangeshkar

Level-3/179



101.

102.

103.

104.

105.

fFa a@ # PeesE @ 78 e

S ?
(1) @EE

(3) aU%

2) s
(4) REr

PA-H FITE A F GE W @ A
S

(1) e

(3) T

(2) BTH
(4)

WA Hq geasht A feat ARl @
Jwg ® 7

(1) 9

@ A

2 @&

(4)'q“<=r

w6 R ¥ @ A AR
W Fed ¢
(1) g
(3) TqW FIe

(2) g
(4) ®IE

Jo dRMEY HReEY @Y BN ufquied
Fftepter B

(1) 9re

(2) T T
(3) §HG I
(4) FFEY

Level-3/179

(21)

101.

102.

103.

104.

105.

Which instrument is not played with

Mizrab/Jawa ?

(1-) Rabaab (2) Dilruba

(3) Sarod (4) Sitar

W'_hich Avanaddh Instrument is

without ink ?
(1) Tabla (2) Dholak

(3) Mridang (4) Naal

How many Geetis are mentioned in

Brihaddeshi of Matang ?
(1) Five (2) Seven
(3) Nine (4) Ten

What is called semitone down of swar

in staff notation ?

(1) Sharp (2) Natural

(3) Double Flat (4) Flat

The classification by Pt. Narain

"' Moreshwar Khare is

(1) Thaat Raag
(2) Ragang Raag
(3) Samay Raag

(4) Dash Vidh Raag

P.7T.0.



106.

107.

108.

109.

110,

111.

MY q FaEIgER G
FH R ?

(1) 10
(3) 18

(2 17
(4) 14

TF @ PR TEA &
(1) onfes (2) muH
(3) GiEp (4) ITF

- 7 gaE & gt et ¥
(1) 13 2 9

3) 4 4 7

R wrdT @i 8 ger ae R
37

(1) 9 (2) U=

(3) (4) &S
TgER aa o # e #@ fed @
(1) x 2 0

3 + 4) S

Ho § @ R=ar & Feaar &

(2) AR
(4) @ U

(1) #1%
(3) AH-aH

Level-3/179
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106.

107.

108.

109.

110.

111.

Pancham is placed on which

Shruti No. according to Modern
Shruti system ?

(1) 10 @ 17

(3) 18 (4) 14

Singing with one swara is
(1) Archik (2) Gathik

(3) Samik (4) Aaranyak

Shruties are in the SA — MA Samvad
(1) 13 - (2 9

(3) 4 4) 7

How many main Taals are in the

South Indian Music ?

(1) Seven (2) Five

(3) Six (4) Eight

Sign of Khali in Paluskar Taal
Notation is

1) x 2 o

3) + 4) S

Differentiating of sound from Throat

is known as
(1) Kaku (2) Aalap

(3) Nom-Tom  (4) Swar Antraal



(23) A

112. @ § ‘gfy oo 9T @ 2y & 7 112. How many types of 'Yati' are in Taal ?
n & @ =X 1) 2 (2) 4
(3) dF (@) = 3) 3 @) 5
113. &Y 9@ F W 2 113. Raag of Asavari Thaat is
(1) F Freer (1) Nayki Kanhra
(2) TEM Fres (2) Darbari Kanhra
(3) et Free : (3) Abhogi Kanhra
(4) gt e Mg B (4) All options are wrong

114. W@z 9fg § s J99q @Y fofy 114. Notation System mostly used in

HA-dr 8 7 Ravindra Sangeet is
(1) AEe Ry ' (1) Bhatkhande Notation
(2) AR HIHS @y (2) Aakar Matrik Notation
(3) AT w@Rfy (3) Moula Baksh Notation
(4) 9T WY (4) Paluskar Notation
115. ‘U g & ‘@0 3 i oy o= @ 115. The word used for 'Swara' in "Vedic
Music' is
(1) @ (2) CW (1). Swaar (2) Sur
(3) I- (4) " (3) Yama (4) Sum
116. =% AET # PA-8 o § 6 A 9 116. Which 14 Beats' Taal having Khali on
Qrell e ® 7 9th Matra ?
(1) 99X (1) Dhamar
(2 gad (2) Deepchandi
(3) el A (3) Aada Chautal
(4) 7T (4) Jhumra

Level-3/179 P.T. O.



A (24)

117. T8 § o7edaerd @ & 117. Ardhva-dashak swar is from the
following
(1) =M (2) 99 (1) Pancham (2) Shadaj
(3) "= (4) TER @) Madiyasi (4 Gandhas
118. S @hd & WM HA-6 7 & 7 118. Which Mail is equal to Major Scale ?
(1) 9EHTHT (1) Shankrabharan
(2) HaEHer (2) Mech Kalyani
(3) HMET HET (3) Maya Malav
(4) 'IA« GIE] (4) Hanumat Todi
119. SJo GTFIH ol @ W el ° R 119. Nick name is found in compositions of
I GG e § 7 Ut. Aman Ali Khan
(1) I | o) A
(2) ST (2) Akhtar
(3) gmEa foan (3) Inayat Piya
(4) Jene fuar (4) Ahmad Piya
120. fama @ &1 I 120. Nick name of Niyamat Khan is
(1) TR (2) FeT (1) Adarang (2) Sadarang
(3) #TT (4) @ (3) Manrang (4) Résrang
121. ‘X" 9t fFe T # oA @\ R 7 121. "Re" Vadi belongs to which Raag ?
(1) ferrm (1) Bihag
(2) qd (2) Yaman
(3) FTEN Feel (3) Darbari Kanhra
(4) YUl (4) Bhupali

Level-3/179



122. oW TR H WE GG @ B

123.

124,

125.

fremadt & & 2
(1) Zad, T
(2) g5, TR
(3) @AM, T
(4) 99, FrFa

AR ST 7

() MH I
@ a3y
@) Ta¥W
(4 Wafa

Pl e & e T e

(1) 99 BT
(2) W FrgeT
3) 3

(4) & Free

T A P91 FYT FGT & ?
(1) BT AAGUSH H IGM &

2 Fm g & 9 (dm) o @

(3) oefiy & T aEes &
(4) FMEE W T gE Ry

Level-3/179
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122,

123.

124.

125.

Malini Rajurkar is associated to

which musical form ?
(1) Thumri, Ghazal
(2) Dhrlllpad, Dhamar
(3) Khayal, Tappa

(4) Bhajan, Folk Song

Sarang Anga is
(1) GaMa Re Sa
(2) Re Ma Re Sa
(3) Re Ga Re Sa
(4) NiDha Ni Sa

The Raga has been created by Miyan

Tansen

(1) Yaman Kalyan
(2) Bageshree Kanhra
(3) Bhairav

(4) Darbari Kanhra

Which statement is false ?

(1) 'Har Rang' is nick name of
Pt. Bhatkhande

(2) 'MA' (Tivra) is used in Kalyan
Thaat

(3) Aashish Khan is a Sarod Player

(4) 'Raag Darpan' book is written by

Damodar

P.T.O.



126.

127.

128.

129.

130.

131.

T - S F TEH &
(1) e | (2) a9
(3) ST ¥ 4) T3

R & & O mem gad T R

(1) B4%

(2) HYHE AT
(3) fortari

(4) myda

g9 @Y, Yo @ 4 Fa1 &

1) 1% T
@) 1% T

@ 2 T
(4) 1% T

dfer arer @ fF A @ 9 A § 7

(1) - @ (2) HEE
(3) Weell | (4) fodr @ of
ferer dom F ot @ d@en ®
(1) @ (2) U=
(3) ¥ (4)

wﬁ%@mﬁam%gwsrgaﬁ
B B

(1) dgar
(3) fer

(2) A
(4) ST

Level-3/179
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126.

127.

128,

129.

130.

131.

Relationship of Atit — Anagat is with
(1) Kriya (2) Jati

(3) Anga (4) Grah

Raag with 'Both Madhyam' from the
following is

(1) Hameer

(2) Madhumad Sarang

(3) Kirvani

(4) Madhuvanti

Pancham Swar, is higher than Shadaj

Swar 1s

(1) 1% Times (2) 2 Times

(3) 1% Times  (4) 1% Times

Bandish starts from which Matra of
Taal ?

(1) 9th (2) Tth

(3) 1st (4) Any one

Number of Strings are in Chitra

Veena
(1) Three (2) Five
(3) Seven (4) Nine

Which word has been used for

up-n-down of sound ?
(1) Intensity (2) Pitch

(3) Timber (4) Echo



132,

133.

134.

135.

136.

‘R T oAfaeR R fRar ?
(1) e
(2) s gt

(3) R GEA
) ¥

T % Jed @ H F1 Fed & 7

(2) arEl/faarE
(4) Hariae

(1) ardyaisr

(3) arEiIATE

U 9% H a2

(1) ey
(3)

(2 TR

(4) &g

@i e A avg Rier @ A
i F afer & ?
(1) IR
3) &

2 &

(4) 9"

A H ARer § R dom @
g B 7

(1) @& g, 22 a5
(2) Ffd g, 22
(3) gfq dom, 7 o=
(@) @ dgrom, 7 a6t
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132.

133.

134.

135.

136.

Who is creator of 'Dhamar’ ?
(1) Tansen

(2) Shouri Miyan

(3) Amir Khusrau

(4) Baiju

What is called the main Swara of
Raga ?

(1) Vadi/Ansh (2) Vadi/Vivadi

(3) Vadi/Grah (4) Samvadi/Grah

An instrument of equally tempered
scale is
(1) Harmonium (2) Sarod

(3) Violin (4) Tanpura

In how many parts, time theory are

divided in view of Swara ?
(1) Four (2) Two

(3) Three (4) Five

Which Veena is used in 'Saarna' of
Bharat ?

(1) Swar Veena, 22 Strings
(2) Shruti Veena, 22 Strings
(3) Shruti Veena, 7 Strings
(4) Swar Veena, 7 Strings

P:T.0,
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137. ‘fgs-N3" GE B GEUE & 187. Founder of SPIC-MACAY is
(1) Zfo ‘fﬁ\ﬁT it (1) Dr. Mukesh Garg
(2) dlo Slo TFET (2) V.D. Paluskar
(3) Yo A (3) Pt. Ravi Shankar
(4) 2o BT o (4) Dr. Kiran Seth
138. ¥eY ¥ @ GETF 2 138. Founder of Mehar Band is
(1) HT @i (1) Amir Khan
(2) TN @i (2) Faiyaz Khan
(3) SFATIEN @ (3) Alauddin Khan
(4) I3 T I G (4) Bade Ghulam Ali Khan
e
139. ‘A9 T FEer gEvey RS B 139. By whom 'Mel Raag' classification
gfearfed fear mar ? r was introduced first ?
(1) g (1) Bharat
(2) ﬁauuq _ (2) Vidyaranya
(3) TRE (3) Sharang Dev
(4) TIgdeq (4) Parshva Dev
140. %Q\?R"'T e {6 7;]:5[ S| ?1 e 140. Kelucharan Mahapatra is related to
g7 | which Dance style ?
(1) qﬁgﬂ - (1) Manipuri
2) FIF (2) Kathak
(3) WITEIETH (3) Bharat Natyam
(4) anfEd : (4) Odissi

Level-3/179



141.

142,

143.

144.

145.

146.

TH W @ EE o § g8
T & 7

) & - (2) Uit
(3) F2R (4) BHEAME
P o gEie g @ e
1) &

(2) e

(3) &

() W R T R

Jo MR @ g T q dafeg ¥ ?

(1) wferay (2) SFIT

(3) ¥R () AR
eiwEll B & FN A RegEre
qe 2 ?

(1) feoretraa 2) U

(3) I (4) STEEd

27

(1) =@ &
(3) warferay o

(2) omeTETE §
(4) F9E H

T SR T A R
(1) TE-Tr
(2) SEEN-SAGY

(3) Tt
(4) faerT-simgard

Level-3/179
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141.

142,

143,

144.

145.

146.

A

In which Raga the Swar Group

Ga Ma Re Sa is not used ?
(1) Hamir (2) Bhupali

(3) Kedar (4) Chhayanat

A part of ancient prabandh is

(1) Swar

(2) Paat

(3) Tenak

(4) All options are right

From which Gharana did Ut. Amir
Khan belongs to ?
(1) Gwalior (2) Agra

(3) Indore (4) Jaipur

Which Hindustani Thaat is equal to
Harikamboji Mail ?
(1) Bilawal (2) Khamaj

(3) Kafi (4) Asawari

Where

organised ?

is Tansen Music Festival

(1) Vrindavan (2) Allahabad

(3) Gwalior (4) Banaras

Pair of 'Sam-Aakriti' Raag is
(1) Darbari-Nayki

(2) Asavari-Jaunpuri

(3) Yaman-Bhupali

(4) Bihag-Bhimpalasi

P.TQ,



147. TEGERIE # gEel IE o &

(1) 114t 7ET |
(3) 9t 9= |

148, ..... RO 0F gAT a2

149. ST TG ST TaH 2

150. §S9 UM JEBI qaET

(2) AT
(3) HFt
@) & 7

(2) 12df 9E=T |

(4) 7di 5ET @

(30)

147.

148.

149.

150.

Mukhda of Masitkhani-gat is started

from

(1) 11th Matra (2) 12th Matra

(3) 9th Matra  (4) 7th Matra

................... is a Sarod Player.
(1) N. Rajam

(2) Bageshwari Kamar

(3) Prabha Atre

(4) Zarin Daruwala

The singing style is based on

Shringar Rasa is

1) Javli (2) Tillana

(3) Varnam (4) Dhrupad

Find the Murchchhana of Shadaj gram
(1) Souveri

(2) Ashwakranta

(3) Margi

(4) Shudh Madhya
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10.

11.

12.

13.

14.

15.
16.

17.
18.

19.
20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e O &

The answer will be treated wrong, if it is marked, as
given below :

© ® © @

If you fill more than one circle it will be treated as a
WIONng answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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